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This 71wn follows the opinion of 577975529 — K37 777379 921 "1 N7

OVERVIEW

In the first 7awn of the second P75 we find an argument between the p"n and
777 27, The p"n there maintains that we require 1"921 1"93. This would
seem to contradict what the X713 here is saying; namely that the Xin who
requires 7AW? 7R°NM 7203 is (only) °"3. Our MoOIN resolves this issue.

mooIn anticipates the following difficulty:
= (X0 97 10p%) 72 PO WIIAT 2) by 9N

Even though that in the beginning of the second 95 -
- lonn) »93) ano) »9a o981 DTN’ 2297 RIP NN

The 8%p Xin who argues with '3, requires the saying of 1''221 1"'22. How
can we say that our mwn which requires 7w °nm 72°n5 follows the opinion of ",
when we see clearly in 2"5 that the "n who argues? with *"9 also maintains that 1521 1"52
is required? The p"n who argues with > is certainly not *"9; and yet he requires both
e e nm a20na!

moon responds that the argument there in 2"5 between the p"n and "7 is in another

matter not concerning 7nw? 71°NM 72°03, however -
$NTNY %295 1Y 930 NXNa

Concerning the matter of 7wH M 72°n> the p"n there agrees to the
opinion of 3'""9, that both the 72°nm 72°n3 need to be performed mnw>.*

SUMMARY

When the X713 says X7 "1 1 X7, it does not necessarily mean that the Xin
who says this 71wn is actually *"7 (for we see in 2" that it cannot be only
°"9), rather it means that the Xin of the mwn follows the opinion of "9
concerning 7Aw2 7m°NM 72700,

THINKING IT OVER

' The p"n states clearly that if he said only an>1°192 or only anm *192, the b3 is 7108.
2 They argue in a case where two people said 2031 11°191 and one (other) person said anm *193; the P"n is
5019 and °"1 is wIn.
3 This entire discussion is following the opinion of 727, who maintains that 1521 1"91 is said on account that
both the 7m°nm 72°n3 are required to be 7AWY.
4 See “Thinking it over’ # 2.
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1. m»doIn question is that the p"n who argues with " in 2"5 w1 also
maintains that anwH an°nm 12200 is required. Why does not mooin ask this
same question from our very own 7wn? The p"n of our 71wn argues with ¥
as well, concerning op7. The p"n maintains that from op7 one is not required
to say 1"92 (it is 3"7 and X"1 who say that you are required), while > states
clearly in our 711> 0P 7awn and one is required to say 1"92!°

2. Is it necessary to assume that when the p"n (in 2"9 w™) requires 1"92
1"921,° it is because he requires 7awH 7°nm 72°05 (according to 7727), or can
it be for other reasons?’

3. Is there a difference how nm»on understood the phrase 'R °"9 11 X', in
his question as opposed to in his answer?®

5> See 0" n; see also TR X"wnn for various answers to this question.
6 See footnote # 4.
7 See 2"wamn and (TR R"wAA.
8 See >"xon and 1"nX # 64.
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